
Candtdates hare to do questions 31 to 

Part - (Social Studies/ Social Science). 

31. 

33 

IMPORTANT I Ert 
90 EITHER from Part - II (Mathenatics and 

(1) 83.7 x 10-9 

- IH (fura a faTT) T TT - II ( TAnfra 

MATHEMATICS AND SCIENCE 
Direction : Anser the followng questions by selecting the correct/most appropriate options. 

(2) 

(1) 124° 

PART -|/- 1 

Which of the following numbers is written in the standard form 2 

45 x 103 

Uraa faR 

12 in a pentagon ABCDE, ZA=(2x +9°), 2B= (2r+ 1°), ZC= (2r-1°), 2D= (2x+ 5) LE=(2r-4). Then, value of (2r + 10") is: 

(2) 114° 

(3) 8.5 x 10-12 (4) 0.6x 1015 

fzâ ñay ABCDE #; ZA= (2r+9°), 2B= (2x +1°), ZC= (2x -1°), 2D=(2x + 5) zz E=(2x-49) I74, (2r+ 10") 1 rA: 
(3) 116 

(1) Concepts should be presented from concrete to abstract 

Science) OR from 

Which one of the following is the most appropriate feature of mathematics textbooks at elermentye. 
level ? 

(2) The language of the book must be highly precise and technical 
(3) Books must contain a lot of similar questions to practice 

(4) 

(4) Concepts should be presented from complex to simple 

13 

118° 

SPACE FOR ROUGH WORK /T hT feñ TIE 



34. 

35. 

36. 

37. 

A sum of s000 becomes 9500 at 7.5% p.a. in x years at simple interest. What 
will be 

amount of the 

() 13824 

(1) 150 

sum in same 

(3-20°) and (5x-609 Then, the value of (4x +30) 1s : 

(1) Teacher Diary 

The two corresponding angles formed by the intersection of two parallel lines by a transversal, 

(3) Report Card 

(1) frT SI0 

(3) frz 

time at 20% p.a, if interest is 
compounded yearly ? 

(2) 11616 

(1) 228 

P-II I I 

(2) 90 

Which of the following is used to record students' problem solving ability, measurement abjih 

and experimentation ability ? 

a13 yfade a à ta (3r- 20) 3r (5r-60) I aa, (4x+3 

4a 

(3) 12144 

(2) 

fseî 4ta ABCD t HHia yi AB 3N CD 

AD= BC = 13 cm t, 

(4) 

123.5 

(2) Cumulative Record 

(4) Anecdotal Record 

(3) 110° 

The distance between the parallel sides AB and CD of a trapezium ABCD is 12 cm. If AB<CD 

CD=24 cm and AD= BC= 13 cm, then area of the trapezium (in cm) is: 

14 

(4) 12672 

#t frats 

3BTHE fas 

20% arfte 

(4) 130° 

114 

a t gâ 12 cm t14f AB<CD, CD-24 cm a 

(cm?) frt: 

(2) (3) (4) 247 

SPACE FOR ROUGH WORK/5 HTU feis 3 

D 



ine data shows the number of wickets taken by a player in last 11 matches played by 
him/her : 

1, 0, 2.4, 0,3, 1, 1, 2, 4, 1 

What is the difference between he mean and mode of the above data 2 

1, 0, 2, 4, 0, 3, 1, 1, 2, 4, 1 

(1) 22 

(1) Professional 

(1) fu 

(2) 

(1) 

7 

39. Anine-digit number 565r9274y is divisible by number 88. Then, the value of (2x+3) is . 

T -3tu t 56519274y. HA 88 # fayp 4, (2x +3y) E 4 

(2) 26 

(2) 

P-Il III 

11 (3) 

Disciplinary 

(2) frqTE 

(2) 

40. Many occupations such as accountancy, banking shop-keeping, tailoring etc. requires mathematics 
value of Mathematics. directly or indirectly. This is an explanation of 

(3) 

(3) 

LAOC= R ZBOD=3x I a, ZBOD aR: 

8 
11 

25 

(3) gfr 

Cultural 

15 

(4) 
10 

41. Ois a point on line AB. Rays OC and OD are drawn on the same side of AB such that OC L OD 

LAOC= x and BOD= 3x. Then, ZBOD is equal to : 

(3) 45° 

(4) 24 

(4) Utilitarian 

(4) 3ritfAAr�0 

(4) 60° 

SPACE FOR ROUGH WORK/ T fes E 



42. For teaching addition of integers at the upper primary stage which of the following is s least u 

(1) 

44. 

(3) 

(1) 

X-4 

(3) ferv 1 3m 

43. Ifx=k, is the solution of the equation : 

7 

(1) 

use of chart paper 

(1) 

use of lift 

(2) 

1 34m 

(3) 
(4) 

(4) 

1 
(2) 7 

-1= ,+1, then what is the value of 

11k +18 

(2) 

11k-12 

(4) 

2) 

(2) 
(4) 

use of stairs 

use of number line 

nfei 34¬m 

2<7<9< 12 She then multiplied each number by 

4jA T 1 3 

11k + 18 

1k -12 

ldentify the correct statement regarding the above situation. 

Number of terms in the ascending order will change. 

Ascending order of numbers will still remain the same. 

Mean of the numbers will remain the same. 

16 

(3) 

Meenu wrote some numbers on the blackboard and arranged them in ascending order 

3 

4 

? 

Ascending order will now be changed to descending order. 

(4) 

SPACE FOR ROUGH WORK/ T5 HTÁ frs E 

5 

8 



45. 

46. 

Which of the following represents the most important capabilities of learners to be assessed 
mathematics 

(a) Ability to use abstractions to perceive relationships 

b) 

(c) 

Ability to memorize all the formulae given in textbook 

(a) Ability to score full marks in mathematics 
Ability to apply mathematical concepts to solve problems related to daily life situations 

Choose the correct option. 

(1) () and (d) 

(1) (b) 3r (d) 

P-II 

(0) 6% 

(2) (a) and () 

(2) (a) 3t (C) 

(2) 5% 

(3) 

5473 

(a) and (d) 

(3) (a) r (d) 

The cost price of an article is 750. It is sold for 608 by giving 24% discount on its marked price 

Had it been sold on its marked price, then what would have been the profit percent ? 

21745473 

(3) 6% 

17 

(4) (b), () and (d) 

(4) (b), (c) ar (d) 

SPACE FOR ROUGH WORK/ aT fs E 

(4) 



47. The value of 31096+ (2704 +2) +0.6738 +0.63 +0.059-0.79 is equal to: 

S1096 (2704 + 2) + 0.6738 +0.63 +0.059 -0.79 1 HTA Uat e 

49. 

(1) 24.5728 

a card is 
48. Cards bea from the box without looking into it. What is the probability that the card dr. 

has the number which is not a 

He 12, 13, 14,.. 

(1) 
45 

59 

(1) 

(3) 

(3) Lecture Method 

(2) 23.6728 

numbers 12, 13, 14, ., 70, 71 (one number on one card) are kept in a box and the 

(1) Group Discussion Method 

(2) 

rft faai fafu 

(1) 1100 

gAA fafy 

1 

4 

prime ? 

Which one of the following is a teacher-centred method of teaching mathematics : 

(2) 275 

(3) 23.5728 

(2) 

(3) 

(4) 

15 

(2) Problem solving Method 

(4) Heuristic Method 

59 

18 

a1: 

4 HHUIA fafu 

(4) 24.6728 

(4) 

50. The distance covered (in metres) by a wheel of radius 25 cm in 350 rounds is (use = 

(3) 550 

(gffe#) fafu 

4 

SPACE FOR ROUGH WORK/ T5 GT4 fs E 

22 

(4) 825 

): 

D 



51. 

52. 

One of the lactors of 20pq²+4pq +45pr 6llpqr- 6rp is : 

(1) 15p- 10r +2 

(3) 2q -3r 

(1) 

(2) 

(3) 

Which of the followng statemernt is correct about assessment ? 

(4) 

(1) 

(2) 

(3) 

(2) 

(4) 

2r-3q 

10p - 15r +2 

Eormative Assessment is used after the course completion to assign the grades. 

P-II III 

Assessment as learning generates opportunities for self-assessment and peer assessment 

S.mmative Assessment helps to know to what extent the instructional objectives have beon 

achieved while teaching a concept. 

5473 

'Assessment for learning' is a process with no scope of giving feedback. 

SPACE FOR ROUGH WORK/T5 aT fTr GE 

19 



53. On the basts of the information given in the statement, which of the suggested course d logically follows ? 
Statement : 

(I 

(2) 

(3) 

Course of Action: 
Anamika does conceptual Ierror while solving problems on mensuration 

(I) Teacher gives a lot of hands-on and visual practice to Anamika. 

(I1) Teacher provides the scope of discussion while giving open-ended questions. 

Choose the correct option. 
() Both course of action (I) and () 
(2) 

(3) Only course of action () 

(4) Neither course of action () nor course of action () 

Only course of action () 

(1) 144Ts (1) s (1) i 

(4) Adar� (1) str aâ aréaré (u) 
SPACE FOR ROUGH WORK/ 5 HTY fes GE 

20 



54 

PORS is a parallelogram in which PQ(4 + I) cm, QR- 26 cm, RS -25 cm and P5-py- li cm 

Then the value of (3r + 2y) (in cm) is : 

(31+ 2y) 14 (cm ) : 

() 

(3) 

5 

forri PQ= (4r +1) cm, QR = 26 cm, RS-25 cm PS=(Oy-l) cmti 

(1) 31 

55. Which of the following rational numbers lie between and 

(2) 35 

(1) 31 

-7 

P-Il IIIIIN 

(2) 11 

4 

(2) 

-(3) 

(9 

(2) 27 

EE lf ris the smallest number which is to be subtracted Irom 2605 to make it a perfect ssars at 

value of (4r+) is: 

36 

5_2, 

(3) 23 

-7 

57, Let A = 3r-8r+11, B = -2r2+ 12x, C = -4r'+7 and D = --11 

If (A +B+C)-D= pr+qr+r, then the value of (p +q+r) is : 

H1 fE A - 312-8x +11, B = -2r2+12r, C = -4r²+7 3 D = --|1 & 

tfe (A + B+)-D = prtqr+r�, t (p +q+r) 
(3) 28 

5473 

4 

21 

(4) 38 

: 

(4) 27 

SPACE FOR ROUGH WORK/ T5 hr f HS 

(4) 30 



5% 

59. 

by giving one simple word for each transformation namely : Reflection, Rotation, Translation and 
Nitu is always confused in identifying the transtormations Her mathematics teacher heipcd h 

Enlargement 
given above 

Which of the following represents the correct sequence of meaning of each transtormatiop 

(1) Flip. Slide, Tum and Bigger Figure 

(3) Turn. Sde, Flip and Bigger Figure 
(3) 

(4) Shde, Flip, Turn and Bigger Figure 

(4) 

(1) 

Flip, Turn, Slide and Bigger Figure 

For which of the following measurements, the construction of triangle ABC can be done ? 

(2) 

AB =5 cm, BC 

AB 

(3) AB 

6 cm, ZABC 130, LBAC = 25° 

3cm, BC = 4 cm, AC-7 cm 

8 cm, BC = 4 cm, ZBCA=90°, ZABC =60 

(4) ACB 120, LABC 25, AC BC 4 cm 

SPACE FOR ROUGH WORK/75 hTY fU TK 

22 D 



60. 
between the total surlace area of the original cube and the new total surface area of the small 
A solid cule of side 12 cm is cut into small solid cubes of side 4 cm each. What will be the relation 

cubes so formed ? 

(1) New total surlace area will be thrice the original total surface area. 

(2) New total surface area will be 7of the original total suurface area. 

(3) New total surface area will be twice the original total surface area. 

4) New total surface area will be of the original total surface aton 

SPACE FOR ROUGH WORK/ T Ar fs TE 

23 



61. 

62 

P-II 

Direction: Ansuer the follwing qu shoms by whehme he corct/most appopriate opttons 

Assertion (A): Achievement in STEM related OUrses Is influenced by gender. 

Problem solving straegesi used by boys and girs are difterent. 

Reason (R) : 

(1) Both (A) and (R) are false. 

(2) Both (A) and (R) are true and (R) is correct explanation of (A). 

(3) Both (A) and (R) are true but (R) is not correct explanation of (A). 

(4) (A) is true and (R) is false. 

afranert (A): 
TÁ (R) : 

(1) (A) 3sfr (R) 

(2) (A) si (R) 

(4) (A) Hat 1 (R) TTA 

STEM () di eTR 3efay fen( s) I VHrfad eri I 

(A) is a technique of vegetative propagation in which a part of the stem or a young branc 

of a plant is pulled and buried in moist soil, such that the branch is still attached to the Paten 

Plant. After some time, roots develop in the buried part and it grows intoa new plant. 

is an example of plant usually grown through this technique. 

(3) Grafting, Rose 

(A) and (B) respectively are : 

(1) Layering, Jasmine 

eR 

H gI (R). (A) Ì ÆI BTGAE 

(A) 3T (B) E49:: 

(1) , T 

(3) 1U, TA 

(2) 

(4) 

(B) HTH-4A: 34 yfafu ( fG-t6) 3Tr IEY () 3IEU }I 

Cutting, Potato 

Budding, Hydra 

(2) , 3T 

24 

(4) HH, EISGT 

(B 

D 



63. Which of the following statements are tne 

(A) Crystallisation is a chemical change 

(B) Photosynthesis is a chemical change. 

(C) Ripening of fruit is a physical change. 

D 

65. 

(1) 

(B) 

Formation of curd from milk is a chemical change 

(A) and (B) () and (D) 

(1) (9 tt (D) 

(4) 

(2) 

(2) (A) str (B) 

(2) Define and explain Archimede's principle 

64. Which of the following strategies would support inquiry oriented science teaching ? 

() Explaining the difference between real and apparent weight 

(3) (B) and (D) 

(3) (B) 30R (D) 

Engaging students in loating and sinking activities 

(A), (B). (C) respectively are : 

(A) 

(3) Demonstrating the loss in weight of an object when immersed in water 

(1) Growth hormone, Pitutary, Proteins 

(3) Adrenaline, Adrenal, Salts 

(A), (B), (C) 4: : 

(A) hormone regulater Carbohydrate, protein and fat metabolism in our body. It is secreted 

by (B) gland and () in our diet impacts the functioning of this gland. 

(4) (B) and (C) 

(2 

(4) (B) st (C) 

(4) 

(2) Insulin, Pancreas, Sugar 

25 

(B) 

(4) Thyroxine, Thyroid, lodine 



66. 

67. 

Which of the following statements is/are true regardny: 
relative 

reactivity of metals 2 

(A) Zinc is more reactive than Iron but less reactive than Aluminium. 

() Sodium is more reactive than Potassium and Calcium. 

(C) Aluminium is more reactive than Magnesium. 
(2) (A) and (B) (1) Only (C) 

(A) fof 

(B) fsUn, i}frm stt àfrqu à sfirs fufareita EI 

(1) ra (C) 

(a) Large circular leaves 

(b) Waxy coating 
(c) Stems have large tunnels 

(1) 
(2) 

(d) Ribbon like leaves 

(3) 
(4) 

(b) 

(c) 

(d 

Adaptation 

(1 

Which of the following represents correct matching set in the context of aquatic plants 

(2 

(4) 

and holes 

(2) (A) sR (B) 

) 

4T 341G71 

(ü) 

(a) - (ü), (b)- (i), (c) - (iv), (d) - (i) 

7i () 

(üi) 

(a) - (ii), (b) - (iv), (c) - (ü), (d) - (1) 

(a) - (ü), (b) - (iüi), (c)- (), (d) - (iv) 

(a)- (ü), (b) - (iv). (c) - (ii), (d) - () 

P-II III 

() 

(a) - (iü), (b) - (i), (c) - (iv), (d) - (ii) 

(a) - (iüi), (b) - (iv). ()- (ü), (d) - (i) 

(3) (a) - (ii), (b) - (ii), (c) - (0, (d) - (iv) 

(v) helpful in staying afloat 

(3) Only (A) 

(a) - (ü), (b) - (iv). (C) - (iü), (d) - (i) 

(3 

Purpose 

nd (A) 

26 

(4) (B) and (C) 

(4) (B) 3n (C) 

helpful in protecting against decay 

helpful in offering resistance to water currents 

helpful in providing buoyancy 

D 



68 

69. 

70. 

The following activity is done in the class VI 

C.dens are siven four iron bars out of which two are bar magnets. They are asked to identiíy the 
bar magnets. Which of the tollowing process skills can be promoted through this activ1ty 

) Observation, Estimation, Experimentation, Controlling variables. 

(2) Observation, Formulating hypothesis, Measuring 

(3) Observation, Classification, Inferring 

(4) Observation, Classification, Communication, Measurement 

at VII À frfefu faffy 

(3) } (3re0e), ifaru, fra fATe 

Which of the following should not be the purpose of open book assessment in Science ? 

(1) 

(2) 
(3) 

(4) 

: 

To give opportunity to explore the book 

To reduce the fear of assessment in learners 

To gauge conceptual understanding of learners 

To score more marks in tests 

(3) srfeHEafsi 3rqUrUHG HHA Hy1 

The density of medium A is more than medium B but less than medium C. In which medium do 
the sound travels fastest ? 

(1) Can't be inferred from this information 
(3) B 

(3) B 

27 

(2) A 
(4) C 

(2) A 

(4) C 



71. Complete the followng table 

72. 

73. 

(3) 

Atomic number 

(1) 

A, B, C. D, E.F respectivelv are : 
(1) 9, 9, 10, 24, 12, 12 

A, B, C, D, E. F 4I: 8: 

(1) 

(3) 19, 9, 9, 12, 12, 12 

ASsertion (A) : 

Reason (R1): 

(2) 

Reason (R2) 

(3) 

(4) 

D 

19, 9,9, 12, 12, 12 

(3) 

9, 9, 10, 24, 12, 12 

Mass number 

Tei (R1) : 
gá (R2) : 

(1) 

1] 

(3) 

A 

(4) (A) n t am àrq (R2) 

24 

c. Cross poi c2is true 

A 

S1 is false 

4 

(3) Both S1 and $2 are false 

No. of electrons 

(2) 
(4) 

(4) 

They have wider field of view. 

(2) 

(A) is true and only (R1) is correct explanation for (A). 

(2) (A) ni t RM (RI) sft (R2) ai (A) fes HÆ IGrt t 

(A) Hit agi (RI) ã (A) Ì Hâ BÊHI 

(A) is true and only (R2) is correct explanation for (A). 

(2) 

(A) is true but neither (R1) nor (R2) are correct explanation for (A). 

(A) is true and both (R1) and (R2) are correct explanations for (A). 

(4) 

(2) 

19, 10, 9, 12, 12, 12 

9, 10, 9, 24, 12, 12 

Convex mirrors are used as 
rearview-mirrors in vehicles. 

They form erect and enlarged image. 

(4) 

B 

SI - Self pollination can take place only in bisexual flowers. 
can take place only in Unisexual flowers. 

E 

19, 10, 9, 12, 12, 12 

9, 10, 9, 24, 12, 12 

(A) t HÆ AI 

No. of protons 

28 

12 

C 

S1 3t S2 2i Hâ 

12 

Both S1 and $2 are true 

SI HET T1 S2 TTH 

SI is true and S2 is false 

No. of neutrons 
10 

10 

F 

D 



74. 

75 

76 

Which of the following statements is true ? 

(1) 
() 

(3) 
(4) 

(2) 

(3) 

Which of the following statements are not true regarding, comnpounds ? 

(A) Compounds show the properties of constituent substances. 

(B) Only elements can react to form compounds. 
(C The composition of each compound is always fixed. 
(D) Compounds can be separated by physical and chemical methods. 

(1) (A), (C), (D) (2) (A), (B), (C) (3) (B), (C), (D) 

(B) 

(1) 

Soil with low water holding capauity has good aeration and high percolation rat 
Soil with ow water holding capacity has poor aeration and high percolation rate 
Soil with low water holding capacity has good aeration and low percolation rat 
Soil with low water holding capacity has poor aeration and low percolation rate 

(A), (C), (D) 

(A) They cannot use dissolved Oxygen. 

(B) They have gills. 
(C) They have large nostrils. 

(A) 

Which of the following statements are true in the context of respiration in whales and 

dolphins ? 

(1) (A), (B), (D) 

(D) 

(D) They often come up to the water surface to breathe. 

(2) (A), (B), (C) 

Ar4: -y 

(1) (A), (B), (D) 

P-II IIII 

(2) (A), (B), (C) 

VATH 
(2) 

(3) (B), (C), (D) 

f 31t 
(A), (B), (C) 

(3) (A), (C), (D) 

(3) (A), (C), (D) 

(4) (A), (B), (D) 

29 

(4) (A), (B), (D) 

(4) (B), (C). (D) 

(4) (B), (C), (D) 



Which of the following h have the most scope for promoting Art integraled learning n Scen (1) 
(2) 

(3) 

(4) 

(4) Anecdotal reords, lournal writing 

Assertion (A) : Nichrome is used as a heating element in devices like electric toaster and elect. 

(1) 
Reason (R): 

(2) 
(3) 
(4) 

(2) 

Journal writing, Field trips Porttohos, Anecdotal records 
Projects, Portíolios 

srfyg (A) 
T (R) : 

(B) 
(1) 
(3) 

(1) (A) sr (R) TA }I 

(A) 

(B) 

geyser. 

Both (A) and (R) are false 

(4) (A) HIT TI (R) TTdI 

(1) 

Nichrome has high melting point and low resistivity. 

Both (A) and (R) are true and (R) is correct explanation for (A) 

Which of the following statements is/ are true regarding the function of bile juice in human digestive 
system ? 

(3) 

Both (A) and (R) are true but (R) is not correct explanation for (A) 

(A) It makes the partly digested food coming from stomach alkaline. 

(A) is true and (R) is false 

It helps in digestion of fats. 
Both (A) and (B) are false 
(A) is false and (B) is true 

(A) sn (B) i Trera 

(A) TA t T (B) HI 

(2) 
(4) 

(2) 

(4) 

(A) is true and (B) is false 
Both (A) and (B) are true 

(A) HEI 
(A) 3t (B) ii Â 

(B) Tea 

30 D 



80. 

81. 

On the basis of the following information identify the substances whuch give flame on b.. 
Substance 

(1) 

(2) 
(3) 
(4) 

A 

B 

(1) Cin D 

(3) 

D 

(4) 

C and D 

A 

B 

(3) 

D 

�eh (R) : 

(1) 

State 

Solid 

Liquid 

Solid 

Liquid 

(1) (A) sir (R) 

3/GT 

za () 

(2) (A) sr (R) 

P-II I 

(A) 3TT (R) 

(2) 

(2) 

Assertion (A): 
Reason (R): The pressure of blood flow in arteries is low as compared to veins. 

Vapourises on burning 

Ta 

(3) gì fem 

A 3R D 

No 

Yes 

A and D 

Both (A) and (R) are true and (R) is correct explanation for (A). 

Both (A) and (R) are true but (R) is not correct explanation for (A). 
(A) is true and (R) is false. 

(A) HEI t I (R) TITa }I 

(1) Parallel to liquid surface 
Downward direction 

Yes 

No 

Arteries have thick and elastic walls as compared to veins. 

82. The buoyant force on an object immersed in liquid acts in: 

(3) A and B 

HÆ t qåI (R), (A) HÂI IIti 

(3) A 3it B 

1 HE E g (R), (A) t HØ ArGA TI I 

(2) 

(2 

Upward direction 
(4) All direction 

(4) Band C 

(4) B 3C 

(4) fe 

31 D 

(1) Both (A) and (R) are false. 



83, 

84. 

85 

(1 

(2 
(3) 
(4) 

(2 

(3) 

(2) 

Tay of ight enters from medium A to medËum B, its speed decreases and on further enter 

into medium C, its speed increases. 

(3) 

Which of the following conclusions can be drawn from this ? 

(4) 

() Ketractive index of A, B, C cannot be compared from above informatiorn 

(1) 

(2) 

(3) 

hch o the followng questions is a divergent questicon ? 
What would happ pen to gravity f the size o earth is reduced to haif 

(1) 

Why does a ball thrown up comes down ? 

(2) 

What t there was no ravity on the earth 

How does gravity vary with the altitude ? 

(3) 
(4) 

(1) 

(4) A 3t CT Tatt BÀ 

Refractive index of A is more than B and C 

Which of the following statements is correct ? 

Refractive index of A is Jess than B but equal to C 

S1 : The normal temperature of the human body is 37C. 

(4) 

Refractive index of A and C are less than B 

S2: Heat flows from a body at a higher temperature to a body at lower temperature. 

A, B, C* 3qaijk g1 34# y 314T TÃ 46d1 E 

A I 3rVAdis B 3CÀ SfRt 

S1 is inference and S2 is observation 
Both S1 and $2 are observation 
Both S1 and S2 are inferences 
S1 is observation and $2 is inference 

(2) SI t S2 ri sraci (}am) 

(3) S1 3¯r S2 srqura I 
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S6. (A) Sunita takes 0.5 g of Sodum Carbonate in a test-tube and adds 5 ml of Dilute Hydrochloric 
(B) She passes the gas proxBuced in the above reaction through Lame water 

Which of the followng represents the chemical rea ctions taking, place in (A) and (B) > 

(1) (A) - NaHCO, + HCI ’ NaCI+ H,O + CO, 

(B) -CaCO, + H,0+ CO, ’ Ca(HCO,), 

A)- Na-CO, + 2HCI’ 2NaCI + H,0 + CO, 

(B) -CaCO, + H,0 + CO, ’ Ca(HCO,), 

iA)- Na.CO, + 2HCI ’ 2NaCl + H,0 +CO, 

CO, ’ CaCO, + H,O 
(B) )a Há ’ NaCl + H,0 + CO, 

(4) (A) -

(2) 

(3) 

(1) 

(2) 

(3) 

(4) (A)- NalHCO, + HC ’ NaCI+ H,0 + CO, 

87. Which of the following statements is/are true regarding nature of science ? 

(1) 

(A) Scientific ideas are not affected by cultural context. 

(3) 

(B) There is no single scientific method. 

acid. 

(1) 

(A) - NaHCO,+ HCI ’ NaCl + H,0 + CO, 

(B) -CaCo, + H,0 + CO, ’ Ca(HCO,), 

(A) - Na,CO, + 2HCI ’ 2NaCl + H,O + CO, 

(B) -CaCo, + H,0+ CO,’ Ca(HCO), 

(A) - Na,CO, + 2HCI -’ 2NaCl + H,0 + CO, 

(B) - Ca(0H), + CO,’CaCO, + H,0 

(1) 
(2 

(B) -Ca(OH), + CO, ’ CaCO, + H,0 

(A) 3r (B) i Te 

(3) (A) Htt sn (B) TeTa 

(4) 

(3) 

P-II 

Both (A) and (B) are false 
(A) is true and (B) is false 

88. While ice melts at 0°C, its temperature: 

(3) decreases 
increases 

(2 

remains same 

(4) 

first decreases and then remains same 

(4) HH Ea 

(2) 
(4) 

Both (A) and (B) are true 

(A) is false and (B) is true 

(A) r (B) - HÆ 
(A) Terd tsit (B) W t 
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(B) - Ca(OH), + CO, ’CaCO, + H,O 

(A) taI E-TeT (e-4) Á0.5 



89. 

90. 

Children of all age groups have various ideas which may be different from science 

(A) These ideas are usually stable 

(B) They are formed due to observable phenomenon 
() They tend to follow similar developmental pattern 
(D) They are easy to modity 
(E) They are often domain specific 

(1) 
(3) 

(E) 
(1) 
(3) (B), (C), (D) 

(A), (B), (C), (E) 
(B), (), (D) 

(4) 

(A), (B). (C), (E) 

(2) S1 is true: S2 and S3 are false 

(1) 

(2) 

Read the following statements in the context of Laws and theories in Science : 

S1 : Laws are generalisation statement whereas theories are explanations. 

S2: Laws are very old and theories are contemporary. 

(1) S3 is true whereas S1 and S2 are false 

(3 

S3: Laws can't be changed whereas theories are subject to change. 

(4) 

(3) S1 and $2 are true whereas S3 is false 

(2) 

(4) 

(2) 

S3 HI TafaS1 3n S2 TTH 

Sl : frH HIH-ÁEU E44rafa frszta ri 

S1 HET }; S2 3i S3 TTCd 

(A), (B), (C) 
(4) (A), (B), (C), (D) 

S1 and S3 are true whereas S2 is false 

SI 3T S2 HEI ts S3 Tcfa 

P-II III 

(A), (B). (C) 

(A). (B). (C), (D) 
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of the following statements are true regardiny: these ideas 


